
QUALITY PARTS
SAUER®

SHOCK ABSORBERS

Truck and Trailer Parts

Edition 2020-06

www.sauer-qualityparts.com



FAIR ꞏ PROVEN ꞏ RELIABLE

Shock Absorbers
2

1

2

3

4

1 … 4 Version 1 … 4



FAIR ꞏ PROVEN ꞏ RELIABLE

3
QUALITY PARTS

SAUER®

5

6

7

8

5 … 8 Version 5 … 8



FAIR ꞏ PROVEN ꞏ RELIABLE

➀ These are SAUER QUALITY PARTS part numbers. They are not original products
of the OEM = original equipment manufacturer or an OEM authorised product, but
it is an indpendently manufactured spare part.

4

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760001000
1390898
1478501
1376430

Scania 306 431 737 – – 50 20 63 75 M14x1.5 – – 3

S3760002000

1283723
296305

1205672
1211866
1283724
1283725
1283726
1283852
1286348
1327883
279245
378220
092968

DAF 250 380 630 – – 50 20 76 75 M16x2 – – 3

S3760003000

81437016597
81437016612
81437016598
81437016600
81437016632
81437016633
81437016667

MAN 290 407 697 – – – – 76 75 M14x1.5 75 M14x1.5 2

S3760004000 0237021400 BPW 267 408 675 55 20 55 20 63 – – – – 1

S3760005000

A0063263100
A0053261100
A0063266000
A0063260100
A0053267400
A0053262500
A3753260400

Mercedes Benz 280 446 726 105 20 50 20 76 – – – – 1

S3760006000

A0053266600
A0063262400
A0063266800
A9583260700
A0053266400
A0053266000

Mercedes Benz 360 536 896 – 16 50 16 76 – – – – 1

S3760009000

02376007100
02376007101
02376007102

017917
017919

SAF
SAF
SAF

Schmitz
Schmitz

169 321 490 78 20 68 20 – – – – – 1

S3760010000

20900497
20374545
1076717
3987957
1629478

Volvo 265 450 715 100 16 66 16 63 – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

5
QUALITY PARTS

SAUER®

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760011000

0083654
251700112278
81437016905
81437026062
81437026100

DAF
MAN
MAN
MAN
MAN

250 428 678 62 20 62 30 76 – – – – 1

S3760013000

91610269
91610272
91610274

0237022000
0237022002
0237022200
0237025100
0237025102

5180021
013506

178711204
178711207
178711209

Bartoletti
Bartoletti
Bartoletti

BPW
BPW
BPW
BPW
BPW

Lecitrailer
Schmitz
Viberti
Viberti
Viberti

260 430 690 55 24 55 24 76 – – – – 1

S3760014000
JAE301050050
A9463260500

Jost
Mercedes Benz

116 278 394 89 20 59 20 76 – – – – 1

S3760015000

A9428905419
A9438900319
A9428905519
A9438900119

Mercedes Benz 88 259 347 50 14 38 25 – – – – – 6

S3760016000

1382704
1398694
1427903
1618606
1696290
1696292
1849370
1942781
1944417

DAF 292 403 695 – – – – 76 75 M16x1.5 75 M16x1.5 2

S3760017000

1369711
1443695
1443696
1450885
1456600
1606742
1606743

DAF 250 419 669 62 20 50 20 76 – – – – 1

S3760018000

A6283260800
A6283261100
A6283261200
A6283261600
A6283261800
A6283262300
A6283262400
A6283262500
A6283262600
A6283262700

DAF 197 311 508 – – – – 73 67 M14x1.5 67 M14x1.5 2

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

Shock Absorbers
6

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760019000

1370093
1380423
1380425
1397523
1478507
1519631
1380427
1478509
1519633

Scania 395 555 950 50 20 50 20 76 – – – – 1

S3760021000

1079150
20374544
20585555
21172388

Volvo 294 458 752 100 16 50 20 76 – – – – 1

S3760022000

0237021600
0237021900
0237023600
0237025200
0237220400
0237220402
0237221400
0237228300
0237228302
0237229000
0237320002

1336821
M001022
UJB0350
196107
196112

02376002600
013250
013961
014118
014750

0196103
020044
028363

1041843

BPW
BPW
BPW
BPW
BPW
BPW
BPW
BPW
BPW
BPW
BPW
DAF

Fruehauf
Fruehauf
Gigant
Gigant
SAF

Schmitz
Schmitz
Schmitz
Schmitz
Schmitz
Schmitz
Schmitz
Schmitz

178 342 520 55 24 55 24 76 – – – – 1

S3760023000

02376007000
02376007001
02376007002

1012386

SAF
SAF
SAF

Schmitz

192 218 410 78 20 68 20 76 – – – – 1

S3760024000
4288

A06030510
112297

Kaiser
LOHR
Rolfo

151 332 483 46 20 46 20 80 – – – – 1

S3760025000

02376007200
02376007201
02376007202

1021298

SAF
SAF
SAF

Schmitz

190 342 532 78 20 68 20 – – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

7
QUALITY PARTS

SAUER®

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760027000

2376001002
21221348
8404174

02376001001
02376001002
02376001400
02376001800

012486
014134
016436

1090122
6503123L
6503608P
6504638G
6506635A
6506636B

Kaiser
Meritor/ROR

SAE
SAF
SAF
SAF
SAF

Schmitz
Schmitz
Schmitz
Schmitz
Trailor
Trailor
Trailor
Trailor
Trailor

160 314 474 – 20 62 20 80 – – – – 1

S3760028000

016508
DW912565
1086689
1093975

D8A912565S
UR600087
1319568
1280199

Schmitz 116 269 385 58 16 58 16 76 – – – – 1

S3760028100
(with bolt kit)

016508
DW912565
1086689
1093975

D8A912565S
UR600087
1319568
1280199

Schmitz 116 269 385 58 16 58 16 76 – – – – 1

S3760029000

DW912801A
1008054
1093977
1086690

D8A912801
UR600088
1204307
1359146

Schmitz 118 267 385 82 16 58 16 76 – – – – 1

S3760029100
(with bolt kit)

DW912801A
1008054
1093977
1086690

D8A912801
UR600088
1204307
1359146

Schmitz 118 267 385 82 16 58 16 76 – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

Shock Absorbers
8

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760030000

1336824
508571

21222271
21224331
21224531
21224745

902368
902404
912368

9302060
1065667

DAF
Hendrickson
Meritor/ROR
Meritor/ROR
Meritor/ROR
Meritor/ROR

Rockwell
Rockwell
Rockwell

SAE
Schmitz

124 303 427 58 24 58 24 76 – – – – 1

S3760031000

1336823
1336827

10490505651
87001

LEI18000270052
7800

21208363
21216058
21224034

5000790689
8404174

02376001000
6503123L
6503608P
6506635A

503075
503076
902194

DAF
DAF

Fruehauf
Fruehauf

Kaiser
Langendorf
Meritor/ROR
Meritor/ROR
Meritor/ROR

Renault
SAE
SAF

Trailor
Trailor
Trailor

Weweler
Weweler
Weweler

159 320 479 62 24 62 24 80 – – – – 1

S3760032000

0237029200
0237228800
0237228802
0237229200
8900020166

02376003100
013290
016271

1079383

BPW
BPW
BPW
BPW

Kassbohrer
SAF

Schmitz
Schmitz
Schmitz

190 351 541 55 24 55 24 – – – – – 1

S3760033000

0237027000
0237228900
0237228902
CF153506
CF153618

196119
196121

F11000335
112320

02376002700
02376003500

013774
016270
017750

1251686

BPW
BPW
BPW

Fruehauf
Fruehauf
Gigant
Gigant
Kaiser
Rolfo
SAF
SAF

Schmitz
Schmitz
Schmitz
Schmitz

136 293 429 55 24 55 24 76 – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

9
QUALITY PARTS

SAUER®

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760035000

M001537
M007950
M076480
M200052
M200133
UJB0364
UJB0563
UJB0565

UJB1124C
1526855

Fruehauf 155 319 474 55 20 55 20 76 – – – – 1

S3760038000

1315959
1370267
1420474
1867874
1868263
1861117
1868264

Scania 280 410 690 – – 46 22 63 73 M14x1,5 – – 3

S3760040000

0237021800
0237026700
0237026702

196116
02376001900

014050

BPW
BPW
BPW

Gigant
SAF

Schmitz

297 468 765 55 24 55 24 76 – – – – 1

S3760041000

81437016620
81437016564
81437016584
81437016585

MAN 232 419 651 62 20 62 30 76 – – – – 1

S3760045000

81417226012
81417226009
81417226033
81417226037
81417226050
81417226014
81417226016
81417226038
81417226042

MAN 94 220 314 40 20 – – – – – 69 M10x1,0 5

S3760046000

81417226010
81417226013
81417226034
81417226035
81417226015
81417226017
81417226045

MAN 73 219 292 40 14 40 14 – – – – – 6

S3760048000
00196170

515069175
Gigant
Krone

108 268 376 55 24 55 24 76 – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

Shock Absorbers
10

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760052000

A0063269900
A0053260900
A3753260200
A9583260900
A0003201530
A0053265800
A0053265700
A0053265900
A0063266700
A0053266300

Mercedes Benz 340 516 856 105 16 50 16 76 – – – – 1

S3760053000

A0063237800
A0053239600
A0063236000
A0063237300
A0063237900
A0073231400
A3573230000
A9583230800
A9583230900
A0033232000
A0033232100
A0043235600
A3753230600
A0053239500
A0063236100
A0013231100
A0023231000
A0023231100
A0023231600
A0023235400
A0033231000
A0043233600
A0043234900

Mercedes Benz 324 479 803 50 16 50 16 – – – – – 1

S3760058000
A9583170703
A9428900519

Mercedes Benz 45 166 211 32 12 32 12 49 – – – – 1

S3760061000
3092136
3198836

21111925
Volvo 110 225 335 – – 67 14 55 – M12x1.75 – – 7

S3760065000

LEI1650050052
A423016002

A9463260300
21215607
21215742
21215751
21215807
21221306

015978
017090

902022SP2
9102022

KAISER
Mercedes Benz
Mercedes Benz

Meritor/ROR
Meritor/ROR
Meritor/ROR
Meritor/ROR
Meritor/ROR

Schmitz
Schmitz
Weweler
Weweler

135 294 429 62 20 62 20 76 – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

11
QUALITY PARTS

SAUER®

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760066000

1861118
1868265
1421062
279011
307111
424306

1012044
1314479
1340252
1381807

20900141

Scania 280 410 690 – – 36 – 63 68 M14x1.5 – – 3

S3760068000

20374546
20374549
1629485
3171963
3987958

Volvo 280 443 723 100 16 66 16 76 – – – – 1

S3760071000 1075478 Volvo 108 221 329 – – 46 20 55 – M12x1.75 – – 7

S3760072000

1075445
1076860
3172986
3198859

20721166
20960913
21137458

Volvo 82 330 412 45 14 45 14 – – – – – 8

S3760073000

7421430898
1622227

20960909
21539730
3198849
3896315

Renault
Volvo
Volvo
Volvo
Volvo
Volvo

46 212 258 45 20 45 20 55 – – – – 1

S3760075000
1598105
1609005

Volvo 240 415 655 100 16 66 16 63 – – – – 1

S3760076000

1628103
1628136
1629482
1629483

Volvo 312 483 795 100 16 – – 76 – – – – 4

S3760077000

1079151
20374543
20585556
21172387

7420374543

Volvo 335 498 833 100 16 50 20 76 – – – – 1

S3760080000

81437026004
81437026005
81437026078
81437026014
81437026086

MAN 330 540 870 105 20 55 24 63 – – – – 1

S3760081000
81437026076
81437026011
81437026012

MAN 270 429 699 105 20 55 24 – – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

Shock Absorbers
12

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760082000

81437016079
81437016093
81437016162
81437016163
81437016166
81437016167
81437016172
81437016217
81437016219
81437016221
81437016230
81437016232
81437016266
81437016318
81437016324
81437016325
81437016326
81437016343
81437016386
81437016538
81437016539
81437016542
81437016543
81437016550
81437016572
81437016606
81437016607

MAN 199 318 517 – – – – 76 75 M14x1.5 75 M14x1.5 2

S3760083000

81437016672
81437016689
81437016706
81437016714
81437016730
81437016732
81437016768
81437016769
81437016787
81437016801
81437016806
81437016830
81437016892
81437016924

8152712

MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN
Volvo

179 309 488 – – – – 63 81 M14x1.5 80 M14x1.5 2

S3760084000
81437016793
81437016804

MAN 261 386 647 – – 50 16 63 61 – – – 3

S3760086000

0237021000
0237021700
0237021800

075278

BPW
BPW
BPW

Schmitz

322 479 801 55 24 55 24 76 – – – – 1

S3760091000
81437016934
81437016016
81437026148

MAN 280 456 736 62 20 62 20 76 – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



FAIR ꞏ PROVEN ꞏ RELIABLE

13
QUALITY PARTS

SAUER®

Shock absorbers

Part No. ➀ Ref. No. OEM ➁ Application Hub 
mm

L
min. 
mm

L
max. 
mm

A
mm

A
inn. 
mm

B
mm

B
inn. 
mm

C
mm

A 1
mm A 2 B 1

mm B 2 Vers.

S3760096000

20769819
20532767
1094523
8159833

Volvo 265 450 715 100 16 66 16 63,4 – – – – 1

S3760097000

7421243060
7421909816

21243048
21862164

Renault
Renault
Volvo
Volvo

315 456 771 100 16 – – – – – 79 – 4

S3760098000
21224778
21226989
1134526

MERITOR / ROR
MERITOR / ROR

Schmitz
107 273 380 57 24 57 24 80 – – – – 1

①

➀ See page 4 
➁ These original part numbers are only for comparison purposes and identification.



QUALITY PARTS
SAUER®

Provided by

FAIR
• The right price for the right part – everywhere and

at any time!

PROVEN
• After all these years on the road your vehicle still deserves

tested components for a long life time – your truck and trailer
will thank you by performing from every day!

RELIABLE
• It is not only that we offer reliable quality parts in one of the most demanding

markets and that our parts keep your business moving – we are a partner you
can depend on!

www.sauer-qualityparts.com
europe@sauer-qualityparts.com
asia@sauer-qualityparts.com
mea@sauer-qualityparts.com

XL
-A

Z3
10

00
AL

-e
n-

D
E 

R
ev

 H
 ∙ 

06
20

 ∙ 
Am

en
dm

en
ts

 a
nd

 e
rro

rs
 re

se
rv

ed
 ∙ 

©
 S

AU
ER

 Q
U

AL
IT

Y 
PA

R
TS


	Shock absorbers
	Shock absorbers


